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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14
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P3-14
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m=930,m FV0=0 m=990,m FV0=0
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40 -
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T T T T T 37 T T T
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P3-14

BfiE) | EBIETK (FD) | EB=E (EH/) | XK R

06:30 294 150.0 |Z=| 1Ri&@06:30 Bzl (RPB{EEE)
06:55 294 150.0 (& =| 1Ri%@06:55 Bz (kABEREE)
08:35 294 150.0 (Z=| 1Ri%@08:35 Bz (KAL)
10:20 294 150. 0 FB| {Ri%@10:20 Bz (GRAFERSE)
12:00 294 150.0 FA| 1Bi&e12:00 Bzh (RAEREE)
13:35 294 150.0 FB| {Ri%013:35 BH&1 (RAHERE)
15:20 294 150.0 FA| {Ri&@15:20 Bz (GRAEREE)
29t1]2058.0 (%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

MERRNER S STREAERS (191.0 : 159.0), AJEEHF—RZ XA45
ZRIA S PRIERE159. 0 ml.
#[ERECZE (2040. 0 vs 4503.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=52 (2025-05-22)

150 A

100 A

50

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1900

396
1146
930 5445

40

Warning: lcol [FVI',| "FVO’'] missing

T
N
o
o
o

- 1000

FRV (ml d-1)

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-14

BfiE) | EBIETK (D) | ElE (EH/HK) | XK SRR

06:20 294 150.0 FB| {Ri&@06:20 B (FAFERESE)
06:45 294 150.0 FA| 1Ri&@06:45 B3 (KAL)
08:20 294 150.0 (2 =| 1Ri%@08:20 Bz (kHBERSE)
09:45 294 150.0 |Z=| 1Ri%e09:45 Bz (KFEESE)
10:40 294 150.0 |Z=| 1Ri&e10:40 Bz (KRBEEEE)
11:35 294 150.0 (2 =| 1BRi%e11:35 Bz (kAFERSE)
12:25 294 150.0 (B =| Ri%e12:25 Bz (kBFERSE)
13:10 294 150.0 S| 1Rige13:10 Bah (REEESE)
13:50 294 150.0 RS {Ri&e13:50 Bz (REERS)
14:35 294 150.0 RS {Rige14:35 Bz (REAERE)
15:25 294 150.0 S| Ri%e15:25 Bz (REERSR)
16:25 294 150.0 B 1Rige16:25 Bzh (REEESE)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRERE150. 0 ml.

HEEHECE (2163.0 vs 4703.0) 15

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

1.

0.8 A

P3-14_0, Day=51 (2025-05-21)

50 A

00 A

50

(¢
00 A

50 A

00 A

50 A

0

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

1528
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1300 184

Warning: lcol [FVI',| "FVO’'] missing 40

. v — M_E

T
N
o
o
o

- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=530, FV0=0
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0 -
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m=755,m FV0=0
%7 o ME
0 -
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0 -
755 760 765
m=930,m FV0=0
—— ME
0 -
5 -
0 -
930 935 940
m=460,m FV0=0
40 4
—— MW
38 1
36 1
34 4
460 465 470




m=530, FV0=0

40 -

39 A
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M_Ww
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535 540

m=755,m FV0=0

39

38 A
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P3-14

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

06:40 294 150.0 BE| 1Ri%e06:40 B (KRFERKSE)
07:05 294 150.0 (2 =| 1Ri%e07:05 Bz (kBFERSE)
08:55 294 150.0 BE| {Ri&e08:55 Bz (REAERESE)
10:00 294 150.0 RS {Ri%e10:00 Bzl (REERSE)
11:00 294 150.0 | {Rige11:00 B3h (REERKSE)
11:55 294 150.0 B Rige11:55 Bz (REERE)
12:50 294 150.0 S| Ri%e12:50 Bz (REERSR)
13:35 294 150. 0 5| {BRige13:35 B3 (RPERKS)
14:40 294 150.0 (2 =| 1Ri%e14:40 Bz (GkBFERSE)
16:20 294 150.0 |Z=| 1Ri&e@16:20 Bzl (GRPB{EEE)
21t 2940.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

TERRHLER 2 STEEART (191.0 :

ZRIAEBRIERE147.0 ml.

FHERECE (2410.0 vs 5173.0) 145

147.0), AlEEHT—R % XA HS
AERERMEC (2410.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=50 (2025-05-20)

150 A

100 A

50

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1600 1528
308 1300 17224

40

Warning: lcol [FVI',| "FVO’'] missing 48

T
N
o
o
o

0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
300 { 1
Bylnlt:@D54 01:49: ET=1759 Fg=2400.0 Ro=594.0
200 A
100 -
308; 0 1 4 5 6 7
AL LA LA A A A A A A A A A R A
1
200 4 ByEt @D50 18:37: ET=1590 Fg=1950. 0 Ro=nan :
T 4 @ @
' —o——o—o
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< 1
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1 @ — \ ——
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0.6
0.4 +
0.2+
1908 |
[ ] | _obs
1000 - —@— PPFD_obs

500 ~

40 -

& L 4
2
¢

3 4 ﬂ e
fu" "
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=550, FV0=0 m=610, FV0=0

—-e— ME 3751 —@— ME —e— ME
36.5 - 38,0 -
37.0
36.0 - 37.5 1
36.5 -
35.5 1 37.0 -
36.0 -
35.0 - 36.5 -
T T T T T T T T T T T T
600 800 1000 445 450 455 550 555 560 610 615 620
m=660,m FV0=0 m=710,m FVO=0 m=765,m FV0=0 m=825,m FV0=0
—o— WNE —o— ME 3951 o ME —— NE
38. 5 39.0 39.0
39.0 1
38.0 - 38.5 1 3.9
38.5 -
i 38.0 -
37.5 38.0
38.0 -
37.5 1 37.5 1
37.0
T T T T T T T T T T T T
660 665 670 710 715 720 765 770 775 825 830 835
m=940,m FV0=0 m m=445,m FV0=0 m=550,m FV0=0
37 -
—o— ME gl —@— Mmw —— MW 37 —— MW
38.5 1 36 4
36 |
38.0 1 36 1 35 35
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37.5 A 34 4
33 1 33
37.0
32 32 1 39 J
940 945 950 600 800 1000 445 450 455 550 555 560
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36 | 36 -
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35 . 35 _
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T T T T T T 33 - T T T T T T
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m=825, FV0=0
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m=940, FV0=0

38 -

37 A

36

35 A

34

33 -

—0—

M_W

940

T
945

950




